
Analysis ISC 2025 (with a special focus on the AZE-results) 

 

Final Ranking (Top 6 and the AZE-solvers) 

  

Median (rank 92/93) = 14,5 pts. 

 

Sorted by Rating-Win  (Top 6 – with all AZE-solvers )  

 

  



Result of Rd 1 (Top 6 and the AZE-solvers)  

 

 Median (rank 92/93) = 6,75 pts.        

 

 

Result of Rd 2 (Top 6 with all AZE-solvers) 

 

Median (rank 92/93) = 8,5 pts.   



Solving History of Araz Almammadov 

(no secrets – everybody can see these data in STM – go to statistics-solvers-add new solver)  

There are no results in STM before 2016 except the ECSC 

 

 

Solving History of Samir Almammadov 

The ISC 2025 was his 3rd solving tournament at all 

 

 



Solving History of Agshin Masimov 

 

 

Solving History of Anatoly Piriverdiyev 

 

 

  



Special look at the second study Nr. 10  

Official solution after 2.Qxc4 according solution sheet  

 

The first variation was found bei Uri Teichman (ISR), Anatoly Piriverdiyev (AZE) and Araz Almammadov. 
The second variation was only found by Araz Almammadov.  

Please regard that after 4…Qa7+ in the second variation every K-move wins for white. According the 
table base Kd8 is the „best“ move with #12, Kc8 and Ke8 is a #13 and Kc6, Kd6 and Ke6 is a #14. 
Therefore the official solution should be 5.K~ +-   

 

This is the solution of Araz Almammadov with 5.Kd8! (exclamation mark):  

 

  



Special look at the S#5 Nr. 12 

Official solution according solution sheet: 

 

Please regard that after a random B-move either 2.Qe6+ or 2.Qb3+ (or both) has a solution in 5 moves. 
But for all B-moves (with the exception of Bb4) there is also a solution in 4: 1 .… Ba1…h8 2. Rd3+ 
3.Qc4+ 4.Qc3+ Bxc3# and 1 … Ba5 2. Rxa5 g2 3. Rg5 e1~ 4. Rxg1 f2#. After g2 only 2.Qe6+ works. 
  

 Therefore it would be better to write the official solution as follows:  

1.Ra4! g2 2. Qe6+ Be5 4. Rd3+ Kxd3 4. Qc4+ Ke3 5. Qc3+ (2,5) Bxc3#  

1. … Bb4 2. Qb3+ Bc3 3. Ra5 g2 4. Rg5 g1~ 5. Rxg1 (2,5) f2#   

1. … Ba1…h8/Ba5 2. Rd3+/Rxa5  =s#4 (no points)  

How did the solvers (there were only 8 solvers who got points for this s#5) write their solution: (only 
the first moves) 

5 solvers with 5 points:  

Kacper Piorun (POL):  1.Ra4! ~  2. Qe6+ …     1. … Bb4,Ba5,Be5  2. Qb3+ … 

Tomas Peitl (SVK):   1.Ra4!  (2.Qe6 …)  1. … Bb4   2. Qb3+ …  

Roland Baier (SUI):   1.Ra4! B~  2. Qb3+ …  1. … g2   2. Qe6+ … 

Andy Ooms (BEL):   1.Ra4!  ~  2. Qe6+ …    1. … Bb4/Ba5   2. Qb3+ …  

Araz Almammadov (AZE):  1.Ra4! ~  2. Qe6+ …  1. … Bb4   2. Qb3+ …  

3 solvers with 2,5 points: 

Daniel Dumitrescu (ROU):  1. Ra4! ZZ B~ 2. Qb3+ … 

Agashin Masimov (AZE):  1. Ra4! ~  2. Qe6+ …  

Samir Almammadov (AZE)  1. Ra4! Bb4  2. Qb3+ …  

 

 


